2021 JbHb X [HARE -

X

) — 78 SR

20211021 BBFIOHZKT = AL 42—

170y 15%3a—F | A B C AT
A S5
51y FT BT BAOR 64 64
Ik EEF KELT 4 —R 26 65 1-1 | 2
s BHE BT BMoO5
S =® BRET BBA o7 CC +1
B 75y
w1 T KR BF Story? 46 36
R &3 A4 Story? 62 16 1-1 3
e WE ok T—=x
men Eh AET J—= -3
C HA K
51y EAIl BR >—7 46 63
ElE BT TS 56 62 1-1 | 1
0 WA BT NEFTA
mers s e LT DF=-x +2
27avs (16%a—F) A B C e |IEf
A #NAF 21—
o1y BFE (A B 61 16
N RS 27y b 6 16 1-1 | 2
50y BR T ¥ 5 A AET
B e TMC
B XCHA
1 7 BEH EETF J—2 16 06
%A AT SATVY 26 06 0-2 | 3
50y EfE = VS
e =5 VS
C M—24—L=X
w1~y =R ik Story? 61 60
A o= AKELTA—X 61 60 2-0 | 1
0y XS OVeH Story?
AR EF Story?
370v4 (17&a—+1) |[ A B C By |IEfR:
A F— LB A
51y | 2R BET SITC 56 46
ATEE2 S 63 61 2-0 | 1
50y =N B= Ao 5
RE E7 D7 —x
B FELEAEA
. a—JL MF B=NLTERE 65 60
=8 =57 AT 36 60 1-1 | 2
0T 1% HTF Story?
BHiE BT Story?
C TAP
. BE BF 27Uk 64 06
A AT 27y R 16 06 0-2 | 3
507 RHE FAE 27Uy b
'R B JNXZ T S 37l




2021 JbHb X [HARE -

X

) — 78 SR

20211021 BBFIOHZKT = AL 42—

470v4 (18%a—}) |[ A B C BEBT | IBf:
A F—LMINT
1 28 % J =2 06 26
iR ER J—= 36 56 0-2 | 3
w0~y AT sl 78 ZTST|
S8 Tie J—2
B AvTlg !
=1 r ik OlH SAOv 7 60 65
xE ¥ SADVY 63 16 1-1 | 2
507 BB EET =AM
N Dr—=x
C HULNH oS8
s BB B ENLTHER 62 56
TH A =&Y — 65 64 2-0 |1
=8 HE Story?
57av5 19%3a-b [ A B C B IRk
A triumph
=1y wE Er J— 2 61 46
B RETF NEFTA 63 36 1-1 | 2
w0 T EBy EE DF=X
EAR thE DF=X
B AN
1 7 IR AT SIS 16 06
EH = EpN 36 26 0-2 | 3
w2y |_EXE B THE
D BET S
C 757 hE—I
=17 S e SADVY 64 60
Aar B Story? 63 62 2-0 1
50y I B <D S7)1TC
#HA BF SAO 0
670y 0&a-F | A B C B |IEf
A 7N — |
1 T ELUEES Story? 36 36
Bl AF Story? 16 36 0-2 3
w2~y |__% EE AU =8N —
BEH =¥ 7Y
B ~NY g
51y N EF B o 7% 63 63
KA B KELFTA—X 61 50 2-0 | 1
50 r IEM A1 il o#CC
Bl %8E R D #HRCC
C 21 ZZIL
=1y %ZH = TR U — > 63 36
T0 EF | BRIU > 63 06 1-11 2
50 r IZARCER TR — >
ME AR TR — >




< 2021 dbisX ElFE - #

[1fb—F A ]

@ A b

@ ME—EZ2H-1X —

@) F—LEsT-A

[2f b —F A ]

@ 77l

@ #NAFa—

@ REAEA

[BfLb—F % F]

@ 777

IEGIB) b —F A2 F >

2021.10.21 BMOHZKT =Rt 2 —

\ — N
F—ZH7—I/LX 5
64 — N
L 777 bhE—
61 62 61
60 63 60
60
6z HWd oK
— JURZI
FELEAEA 3
AR B triumph
61 61 62
61 56 63
61
4
° 4vTly |
— =}
F— LMINT =
) S TF ==
61 56 26
36 62 61
64
60

F— LMINT

@



